
Chapter 8 Section 1 Answers: pg 387 - 390

1. Function

2. Drawing, No, Sample answer: Each element of the domain can be paired with either or both of the elements of the range.

3. Domain: 0, 1, 2, 3, 4; Range: 0, 2, 4, 6, 8

4. Domain: -5, 1, 2, 7; Range: -3, 2, 5

5. Drawing. No; The input 1 is paired with two outputs, 2 and 5.

6. Drawing. Yes, Every input is paired with exactly one output.

7. Sample answer: The relation is a function. A function can have two inputs paired with one output, as in this case, as long as it does not have two outputs paired with one input.

8. Domain: -2, -1, 0, 1; Range: -9, 2, 4, 5

9. Domain: 3, 7; Range: 3, 6, 9

10. Domain: -4, -3, 2, 4; Range: -1, 0

11. Domain: 1.5, 2.8, 6.5; Range: 0.2, 3.9, 4.3, 6.5

12. Sometimes

13. Graph. No; the input 3 is paired with two outputs, 0 and 4.

14. Graph. Yes; every input is paired with exactly one output.

15. Graph. Yes; every input is paired with exactly one output.

16. Graph. No; the input -10 is paired with two outputs, -5 and 20.

17. a) Yes. Sample answer: A person can have only one height (output) for any given age (input).    b) No. Sample answer: A person can have more than one age (outputs) for a given height (input) because the height of an adult remains the same for many years.

18. No

19. Yes

20. No

21. a) Domain: 62, 73, 81, 82; Range: 604, 1086, 1102, 1199, 1208    b) Graph    c) No; the input 82 is paired with two outputs, 1102 and 1208.

22. a) Yes. Sample answer: The advisories are issued at different times, so for any advisory number (input), the hurricane can have only one wind speed (output). This shows on the graph, because it passes the vertical line test.    b) Advisories 20 – 30

23. Mapping diagram. Sample answer: A mapping diagram allows you to look at the mapping and see if there is an input that has more than one arrow going from it,  whereas with ordered pairs, you need to compare x and y values.

24. a) increase; decrease    b) Sample answer: The domain represents the altitude in feet of the skydiver during the jump, and includes the values from 0 to 12,000. The range represents the air pressure the skydiver experiences during the jump in pounds per square foot, and includes the values form about 1350 to 2125.    c) Yes. Sample answer: For any altitude (input), there is exactly one air pressure (output). The graph passes the vertical line test.    d) About 1900 lb/ft²

25. Sample answer: (2, 3), (5, 8), (9, 3)

26. a) Graph    b) Sample answer: The growth is the same in that for both the vireo and the gnatcatcher, the cowbird’s growth is not too fast the first two days, then is more rapid the next several days before slowing and almost stopping. It is different in that the growth for the cowbird raised by the gnatcatcher decreases and levels off with the cowbird at an earlier stage and at a much lower mass than the cowbird raised by the vireo.

27. – 12

28. 8

29. – 350

30. 13

31. Yes

32. No

33. No

34. Yes

35. $153, $1003

36. $1575, $5775

37. a) Yes. Sample answer: For any merchandise cost (input), there is exactly one shipping cost (output).    b) No. Sample answer: Each shipping cost (input) corresponds to many different merchandise costs (outputs).

Chapter 8 Sect 2 Answers: pg 394 – 396 

1. Linear equation

2. No. Sample answer: In function form, an equation is solved for y. The equation in function form is y = 1/4x – 3/4.

3. Yes

4. No

5. No

6. Yes

7. Graph

8. Graph

9. Graph

10. Graph

11. 1) 0, 120, 240, 360, 480, 600, 720    2) Graph    3) about 21; about 21 h

12. No

13. Yes

14. Yes

15. No

16. Yes

17. Yes

18. Yes

19. No

20. Yes

21. Yes

22. No

23. Yes

24. y = x – 1

25. y = -2x + 1

26. y = 3x – 5

27. y = -4x – 2

28. y = 1/3x + 3

29. y = - 3/4x

30. y = 5/2x – 3

31. y = - 2/3x + 4

32. 390,000 lb

33. 0.355 L

34. 146,000 km²

35. 3

36. – 2

37. – 5

38. 4

39. a) bigeye thresher: 158 cm, scalloped hammerhead: 194 cm, white shark: 230 cm     b) bigeye thresher: 63%, scalloped hammerhead: 78%, white shark: 92%     c) Bigeye thresher. Sample answer: The bigeye thresher has the shortest body relative to its total length, so it must have the longest tail relative to its body length.

40. a) 59.6 million years    b) 2320 km

41. a) s = f – 1.19 / 2.13, or s ≈ f/2.13 – 0.56     b) 0.8 m/sec

42. a) 9, 4, 1, 0, 1, 4, 9    b) Graph    c) No; yes. Sample answer: It is not linear because its graph is a curve, not a straight line. It is a function because its graph passes the vertical line test.

43. – 6

44. 7

45. – 4

46. 42

47. 3

48. 72

49. 105

50. 190

51. domain: -2, 0, 2, 4; range: 1, 2, 3, 4

52. domain: -7, 5; range: 0, 3, 8

53. domain: 6; range: -2, 1, 4, 9

54. domain: 1, 2, 3, 4; range: 1, 8, 27, 64

55. B

56. I
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1. y-intercept, x-intercept

2. Sample answer: To find the x-intercept, substitute 0 for y in the line’s equation and solve for x. To find the y-intercept, substitute 0 for x in the line’s equation and solve for y.

3. x-intercept: 3; y-intercept: 2

4. x-intercept: -2; y-intercept: 4

5. x-intercept: 0; y-intercept: 0

6. Graph

7. Graph

8. Graph

9. Let x be the amount of ground beef and y be the amount of chicken (both in pounds). Then 3x + 5y = 30; Graph

10. x-intercept: 1; y-intercept: 5; Graph

11. x-intercept: 4; y-intercept: -2; Graph

12. x-intercept: -2; y-intercept: 3; Graph

13. x-intercept: -5; y-intercept: -4; Graph

14. x-intercept: 6; y-intercept: 8; Graph

15. x-intercept: -9; y-intercept: 6; Graph

16. x-intercept: 2; y-intercept: -4; Graph

17. x-intercept: 7; y-intercept: 7; Graph

18. x-intercept: -3; y-intercept: 9; Graph

19. a) Let x be the amount of canned food and y be the amount of dry food (both in ounces). Then 40x + 100y = 800.    b) Graph     c) Sample answer: 0 oz canned and 8 oz dry, 10 oz canned and 4 oz dry, 20 oz canned and 0 oz dry.

20. a) x-intercept: 9; y-intercept: 18, Graph    b) Sample answer: The x-intercept represents how many hours it will take you to run out of gas. The y-intercept represents how much gas is in a full tank.    c) 6 ¾ h

21. x-intercept: 2; y-intercept: -2; Graph

22. x-intercept: 5; y-intercept: 3; Graph

23. x-intercept: -4; y-intercept: 6; Graph

24. x-intercept: -7; y-intercept: -2; Graph

25. x-intercept: 3; y-intercept: 6; Graph

26. x-intercept: 3/2; y-intercept: - 7/2; Graph

27. Sample answer: y = 3, x = 4; the graph of y = 3 is the horizontal line with the y intercept 3, and the graph of x = 4 is the vertical line with the x-intercept 4.

28. Upward; Graph

29. a) Let x be the time the single-engine plane is rented and y be the time the twin-engine plane is rented (both in hours). Then 60x + 180y = 9000     b) Graph     c) about 60 h     d) 60x + 180(30) = 9000, x = 60 h

30. a) 2x + 2y = 16    b) Graph    c) Sample answer: x = 3 and y = 5, x = 4 and y = 4, x = 7 and y = 1    d) No. Sample answer: For the x-intercept, y = 0, and for the y-intercept, x = 0, and for neither the length not the width of a rectangle can be 0.

31. Sample answer: 12, 24, and 36; they are common multiples of the coefficients.

32. a) Graph    b) Sample answer: The y-intercept stays the same, but the x-intercept moves closer to the origin, resulting in the graph getting steeper.    c) Sample answer: The x-intercept stays the same, but the y-intercept moves closer to the origin, resulting in the graph getting less steep.    d) Sample answer: Both the x- and y-intercepts move farther from the origin together in such a way that the steepness of the line does not change for different distances.

33. x-intercept: y = ax + b, 0 – b = ax + b – b, -b = ax, - b/a = ax/a, -b/a = x, The x-intercept is – b/a.                                                                                                       y-intercept: y = ax + b, y = a(0) + b, y = b, The y-intercept is b.                           For y = 3x + 12, a = 3 and b = 12. The x-intercept is –b/a = -12/3, or – 4, and the y-intercept is b, or 12.

34. 3

35. – 1

36. – 5

37. 2

38. 30% increase

39. 85% increase

40. 50% decrease

41. 22% decrease

42. yes

43. no

44. no

45. yes

46. B

47. I

48. Let x be the number of basic washes and y be the number of deluxe washes. Then 8x + 12y = 960, Graph. Sample answer: 0 basic and 80 deluxe, 90 basic and 20 deluxe, 120 basic and 0 deluxe.
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1. Rise, Run

2. Sample answer: The denominator of the slope ratio for a vertical line is always 0 because the x-coordinate of every point on a vertical line is the same, and division by 0 is undefined.

3. Sample answer: The x- and y-coordinates of the two points are not used in the same order. If you subtract the second x-coordinate from the first x-coordinate to obtain the denominator 5 – 0, then you should subtract the second y-coordinate from the first y-coordinate to obtain the numerator 4 – 2. So, m = 4 – 2 / 5 – 0 = 2/5.

4. positive; 1

5. positive; 2/3

6. zero; 0

7. 5/12. Sample answer: 5/12 = 0.4166… and 3/5 = 0.6, so the slope of the ramp in Example 1 is greater.

8. positive; ¾

9. negative; - ¾

10. undefined

Sample coordinates for 11 – 16

11. (-2, 0) and (0, 4); 2

12. (0, -1) and (4, -1); 0

13. (0, -5)and (4, 1); 3/2

14. (6, 0) and (0, 3); - 1/2

15. (3, 0) and (0, -4); 4/3

16. (3, 0) and (3, 5); undefined

17. a) 27     b) Its speed in meters per second     c) Sample answer: It would also start at the origin, but rise less steeply because the gazelle’s speed of 22 meters per second is less than the cheetah’s speed of 27 meters per second, and the speed is indicated by the slope.

18. Graph

19. Graph

20. Graph

21. Graph

22. 2

23. – 1

24. undefined

25. – 2/3

26. 7/8

27. 0

28. – 5

29. 0

30. undefined

31. 1/3

32. – 71/17

33. undefined

34. A line with zero slope is a horizontal line, while a line with an undefined slope is a vertical line.

35. 22 ft

36. a) 4000 ft/mi     b) 1000 ft/mi    c) 2500 ft/mi

37. a) No. Sample answer: The grade is 63/840 = 0.075 = 7.5%    b) 90 ft

38. Trail A. Sample answer: Trail A has a slope of 15/50 = 3/10 = 0.3, which is less steep than trail B’s slope of 30/75 = 2/5 = 0.4.

39. a) For any pair of points, the slope is ½; the slope does not depend on which two different points are chosen.     b) For any pair of points, the slope is – 2/3; the slope does not depend on which two different points are chosen.

40. Sample answer: P(8, 2)

41. – 12

42. 24

43. – 11

44. – 50

45. 3

46. 8

47. 5

48. 11

49. x-intercept: 1; y-intercept: -2

50. x-intercept: 2; y-intercept: 9

51. x-intercept: -8; y-intercept: -6

52. D

53. G

